


















UNDERSIDE OF TRUCK

PASSENGER SIDE FRONT      

UNDERSIDE OF TRUCK

PASSENGER SIDE FRONT      

RUNNING BOARD INSTALLATION
PASSENGER SIDE 

SKU# RB-0200-BK REV 3 15

UNDERSIDE OF
RUNNING BOARD

13. Fasten the Running Board to the Passenger   
 Side Front Bracket cradle by using (2) M8 Flat
 Washers, (2) M8 Lock Washers and (2) M8
 Hex Head Nuts.

15. Fasten the Running Board to the Passenger   
 Side Rear Bracket cradle by using (2) M8 Flat
 Washers, (2) M8 Lock Washers and (2) M8
 Hex Head Nuts.

14. Fasten the Running Board to the first Passenger
 Side Center Bracket cradle by using (2) M8
 Flat Washers, (2) M8 Lock Washers and (2)
 M8 Hex Head Nuts.

M8 FLAT WASHER 

M8 HEX HEAD NUT

M8 LOCK WASHERPASSENGER SIDE
FRONT BRACKET

UNDERSIDE OF
RUNNING BOARD

PASSENGER SIDE
REAR BRACKET

M8 FLAT WASHER 

M8 HEX HEAD NUT

M8 LOCK WASHER

UNDERSIDE OF TRUCK

PASSENGER SIDE FRONT      

UNDERSIDE OF
RUNNING BOARD

PASSENGER SIDE
CENTER BRACKET

M8 FLAT WASHER 

M8 HEX HEAD NUT

M8 LOCK WASHER


